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÷ ��%&�/��/� ���,����'�%��� &�� E <7<5=O5<>= 
?>?OD=>EFLN, G?GGL4NM<= E>EF>O=<5 < DG=>F<< >>6<. 

÷ ���$�&��� 3 MF> <<?G?LE=O= D4D44<G5E><= F>> E <7<5=ON-
M5=EO G4EF>F>= 3 4?O F>=<74F<< < ?<DF<=74 ?<F56OE <OLF. 

÷ ���$�&��� ��&&� 3 <<?G?LE=O= E<=GE><44?L=O= <=4GF<D>-
64==O= F>> 4?O <4>E<<4?L=> MDD5>F<6=>= >>DD5>F<< <>DM<= 
(6>745=EF6<5 F>?L>> =4 >5?4EFL <>DM<=). 
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÷ �������%��� �$�������� 74?L64=<G5E><E F>>>6 < 4??4D4F=OE >>E<5F<G5E><E ED54EF6 
EG<F45FEO E4<O< MDD5>F<6=O< D5L5=<5< 6>7D4EF=OE <7<5=5=<=.    

÷ ������%��/� �%%��������/ 4>>474?<, GF> 4??4D4F  BioLIFT-4 <>45?L m709 
45=EF6<F5?L=> MDD5>F<6=> ><>?46<645F >>6G, 6>76D4M4O 5= >D4E>FG < E6565EFL.  

÷ ������&��,�/� $��'�,&�& 57> <E?>?L7>64=<O 6 >><??5>E5 E 7D4<>F=> 6O5D4=-
=O<< 74DO65==O<< >>E<5F<G5E><<< ED54EF64<< 6<45= ED47G ?>E?5 ?5D6>7> E54=E4.   

÷ $57G?OD=O5 E54=EO ���,����&�$���� 3 MF> 74D4=F<O F>7>, GF> D57G?LF4F =5 
<EG57=5F E> 6D5<5=5<.     

÷ �=>7>G<E?5==O5 ������&��,�/� �&�/�/ > Gezatone BioLIFT-4 <>45?L m709 
?>4F65D644NF 57> DG=>F<>=4?L=>EFL, 557>?4E=>EFL < MDD5>F<6=>EFL 6 5>DL55 E 
6>7D4EF=O<< <7<5=5=<O<< >>6<. 

÷ �E?< �O E>F<F5  ������&,%/ �& ���$�%&�/% ��������� >>6<, F> >>E<5F<G5E><= 
>><54== BioLIFT-4 <>45?L m709 >>465F �4< 6 MF>< >7D><=GN ?><>ML.   

÷ �>?L7>64F5?< 5>?55 �������� ���$�%&� ?D<<5=ONF ?D<5>D 4?O ?D54G?D5645=<O 
?>O6?5=<O <>DM<=.    

÷ ����%&� �%���,������/ 4??4D4F4 3 ?<F>, ?>45>D>4>> < 7>=4 45>>?LF5.  
÷ �E?>?L7>64=<5 BioLIFT-4 <>45?L m709 <>65F >>474FLEO ��,&�$��&���/� 

��$���&�� 4?O F5E, >F> E>5<D45FEO <E?>?L7>64FL <=N5>F<< >>??475=4, D<??5DO 
<?< 4DG7<5 <=647<6=O5 <5DO 4?O ><>?>65=<O >>6<.  
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÷ �4EE465D 4?O ?<F4 Gezatone 
BioLIFT-4 <>45?L m709 D47D45>F4= 
=4 5475 FD5E <5F>4>6, EG<F4NM<EEO 
E4<O<< D57G?LF4F<6=O<<. �> 
E4<O< 7?46=O< >DG6<5< 4??4D4F4 
?D>F<6 <>DM<= O6?O5FEO 
������%&��� ���$�&����� 
��&&� 3 $'��&�/ $�������.  
 

÷ �>745=EF6<5 <<>D>F>>>6 �>FF< 
E?>E>5=> D477?44<FL E4<O5 
7?G5>><5 <>DM<=O < E>?44>< >>6<, 
EF<<G?<DGO E<=F57 >>??475=4 < 
M?4EF<=4, 74?>?=<6 <>DM<=G 
<7=GFD<.  
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$57G?LF4F, ?>?GG5==O= ?>E?5 E54=E>6 E Gezatone BioLIFT-4 <>45?L m709, 
>EF4=5FEO E �4<< 4> L5EF< <5EOF56, 4 ?> <EF5G5=<< MF>7> 6D5<5=< <>6=> 
5G45F ?D>EF> ?>6F>D<FL >GDE 74=>6>!  



I. $���� «����$�$��» 
�D<<5=5=<5 ?>EF>O==>7> 74?L64=<G5E>>7> F>>4 D57G?<DG5F >5<5==O5 
?D>F5EEO, ?D><EE>4OM<5 6 >>65, G?GGL45F F>=GE >>6<, =>D<4?<7G5F 
45OF5?L=>EFL E4?L=OE 65?57, GE<?<645F ?<F4=<5 >>6<, 55 6?46=>EFL, 
E?>E>5=>EFL > D575=5D4F<<, 4 F4> 65 EF<<G?<DG5F 6OD45>F>G 55?>>6 
>>??475=4 < M?4EF<=4 D<5D>5?4EF4<<.  
�D< ?><>M< ?>EF>O==>7> 74?L64=<G5E>>7> F>>4 <>6=> ?D>6>4<FL 
?D>F54GDG <>=>D>D574, F.5. 66545=<O E?5F<4?L=OE 74DO65==OE 
>>E<5F<G5E><E >><??5>E>6. 
�6545=<5 >>E<5F<G5E><E ED54EF6 <5F>4>< <>=>D>D574 <=>7>>D4F=> 
GE<?<645F <E 45=EF6<5 < GE64<645<>EFL >>65=.  
� 44==>= <>45?< ?D>F54GDO E <E?>?L7>64=<5< ?>EF>O==>7> 
74?L64=<G5E>>7> F>>4 ?D><76>4OFEO E ?><>MLN M?5>FD>44-D>?<>4. 

�E?>?L7>64=<5  
D56<<4 «�>=>D>D57»  

>FD<F4F5?L=>= 
?>?OD=>EF< 

÷ ?>6OL45F F>=GE 4DO5?>= >>6<; 
÷ G6?46=O5F >>6G, 6>EEF4=46?<645F 55 FGD7>D; 
÷ 4>F<6<7<DG5F F>=GE E>EG4>6 < G?GGL45F F65F ?<F4; 
÷ EF<<G?<DG5F FD>D<>G F>4=5= < ><E?>D>4=>5 4OE4=<5 

>?5F>> >>6<; 
÷ GE<?<645F ?D>=<>=>65=<5 4>F<6=OE >>E<5F<G5E><E 

ED54EF6 6 7?G5>><5 E?>< >>6<. 
 



$56<< «�>=>D>D57» ?>?>6<F5?L=>= ?>?OD=>EF<  

$56<< «�>=>D>D57» ?5D5<5==>= «+» < «3» ?>?OD=>EF< ?> >G5D54< 

%=<<45F ?>6OL5==O= F>=GE <<<<G5E><E <OLF ?<F4 <, F4><< >5D47><, 
÷ D477?46<645F <<<<G5E><5 <>DM<=O =4 ?5G, ?5D5=>E<F5, 6 G7>?>4E 7?47, 6>>DG7 DF4; 
÷ G<5=LL45F D474D465=<5 < 6>E?4?5=<5 >>6<; 
÷ GEFD4=O5F >F5>< < 6O6>4<F F>>E<=O; 
÷ E=<<45F 4??5D7<G5E><5 D54>F<<, 7G4, ?>>D4E=5=<O >>6<; 
÷ G<5=LL45F ?D>O6?5=<O >G?5D>74, >E65645F >>6G, E?>E>5EF6G5F EG65=<N ?>D; 
÷ >F>DO645F >>6=O5 ?>DO, D4EM5??O5F < ><O?O5F >>6=O= 6<D - E55G<,  

F5< E4<O< >G<M4O >>6G ?<F4. 

÷ 445F ?D5>D4E=O5 D57G?LF4FO ?D< G6?46=ONM<E ?D>F54GD4E 
(D5>><5=4G5FEO <E?>?L7>64FL E?5F<4?L=O5 G6?46=ONM<5 ED54EF64); 

÷ EF<<G?<DG5F E<=F57 E>5EF65==>7> >>??475=4 < M?4EF<=4 >?5F>4<< >>6<; 
÷ 6>EEF4=46?<645F E>5EF65==O5 74M<F=O5 DG=>F<< >>6<; 
÷ GE<?<645F D575=5D4F<N < D5?4D4F<N. 
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�<>D>F>>< ?>76>?ONF <O7>>, 45?<>4F=> < >G5=L MDD5>F<6=> 6>745=EF6>64FL =4 
DG=>F<>=4?L=GN 4>F<6=>EFL >?5F>> >>6<, <OLFO, ?<<D4F<G5E><5 < >D>65=>E=O5 E>EG4O. 
�?O <<>D>F>>>6>= EF<<G?OF<< <E?>?L7GNFEO F>>< =<7>>= G4EF>FO, >>F>DO5 
6>EEF4=46?<64NF E>EF>O=<5 6E5E E?>56 >>6<, F>=<7<DGNF <OLFO, =>D<4?<7GNF 
<<>D>F<D>G?OF<N < ?<<D>>FF>>, EF<<G?<DGNF E<=F57 >>??475=4 < M?4EF<=4.  
�<>D>F>>< >>47O64NF =4 <OLFO EF<<G?<DGNM55 < G>D5??ONM55 6>745=EF6<5, 
6>EEF4=46?<64NF GFD4G5==O= <OL5G=O= F>=GE, >>DD5>F<DGNF >64? ?<F4, GEFD4=ONF F4> 
=47O645<O= ?F>7, F.5. ?>4FO7<64NF G7>?>< 7G5, GEFD4=ONF >56<E4=<5 65>, >>=FGD 5D>65=. 

II. $56<< «�<<D>4D5=46» < D56<< «&>=<74F<O <OLF» 

�OLFO ?<F4 >E?45?< < 
D4EFO=G?<EL. �<F> >EG=G?>EL 
< 6O7?O4<F G7DN<>. 

�??4D4F BioLIFT-4 EF<<G?<DG5F 
<OLFO ?<F4, 6>76D4M4O << 
G?DG7>EFL < M?4EF<G=>EFL. 

&>=<7<D>64==O5 <OLFO 
G?GGL4NF >64? ?<F4, 6>76D4M4O 
5<G <>?>4>EFL < >D4E>FG. 
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%F<<G?OF<O ?<F56OE <OLF E?>E>5EF6G5F GEFD4=5=<N <7?<L=<E 6<D>6OE >F?>65=<= =4 ?<F5 < L55, 
?<>6<4<DG5F «6F>D>= ?>45>D>4>>». $45>F4NM<5 <OLFO G?GGL4NF ?D<F>> E6565= 4DF5D<4?L=>= >D>6< > >>65 ?<F4, 
GEFD4=ONF 74EF>==O5 O6?5=<O, «<5L><» ?>4 7?474<<. �$�&��'$� ���$�&������ -���&$�%&��'�/&�� 
�/,& ���''��� �������� «������$�&������� ��$&����». -F4 ?D>F54GD4 6O?>?=O5FEO M?5>FD>44<<-
L4D<>4<<, > >>F>DO< ?D<?>65=> ?5D5<5==>5 M?5>FD<G5E>>5 =4?DO65=<5. 
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?DG6<=OM<E <7>?>G5> 6>745=EF6G5F =4 >>6G 6 4=5 ED>D<<D>646L5=EO <>DM<=O, 745 ?>4 45=EF6<5< >E>5>7> 6<44 
<<>D>F>>>6 E>7445FEO 7>=4 F5??>6>7> MDD5>F4. %>G5F4=<5 F5??>6>7> < D474D464NM57> 6>745=EF6<O <<>D>F>>>6 

�>FF< 6O7O645F >F65F=GN D54>F<N >>6< 6 6<45 <=>7>>D4F=>7> G65?<G5=<O 4>F<6=>EF< >?5F>>-D<5D>5?4EF>6, 

>>F>DO5 E<=F57<DGNF <>?5>G?O <>?>4>7> >>??475=4 < M?4EF<=4. &4><< >5D47><, ?>E?5 ?D>F54GDO >>DD5>F<< 4=> 
<>DM<=O ?D<?>4=<<45FEO < 6OD46=<645FEO, 6>EEF4=46?<64O D>6=O= >>=FGD ?>65DE=>EF< >>6<. �D< ?D>6545=<< 

>GDE4 ?D>F54GD MDD5>F EF4=>6<FEO EF>=><<, ?>4 4=>< <>DM<=O-5>D>74>< D>D<<DG5FEO =56=O= 64?<> <7 

<>?>4>7> >>??475=4, E>D>L> GE64<64NM<= 6?47G < >55E?5G<64NM<= 6OD46=<64=<5 >>6< 6 F5G5=<5 2-3 <5EOF56. 
�??4D4F BioLIFT-4 <>45?L m709 6 D56<<5 «�>DD5>F<O <>DM<=», ?D< GE?>6<< 57> <E?>?L7>64=<O 6 G5F>>< 

E>>F65FEF6<< E <=EFDG>F<5=, D477?46<645F <>DM<=O =4 ?<F5 5EF5EF65==O< >5D47>< 3 EF<<G?<DG5F 6OD45>F>G 

>>??475=4 < M?4EF<=4. $57G?LF4F, 4>EF<7=GFO= 5?47>44DO ?D46<?L=> ?>4>5D4==>= ?D>7D4<<5 ?D>F54GD, <>65F 
E>ED4=OFLEO =5E>>?L>> <5EOF56. �??4D4F F4> 65 <>6=> <E?>?L7>64FL 6 F5?OE ?D>D<?4>F<>< ?>O6?5=<O <>DM<=. 

III. $56<< «�>DD5>F<O <>DM<=» 
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�5D6>=4G4?L=>5 
E>EF>O=<5 >>6< 

�>745=EF6<5 F5??4 < 
<<>D>F>>>6 =4 4=> 
<>DM<=O 



�DF<>G? - 1301089 

���,��� ��� ����$�&� 



I. $���� «����$�$��» 
�D>F54GDO 6>745=EF6<O 74?L64=<G5E><< F>>>< ?D>6>4OFEO ?> M?5>FD>?D>6>4OM5<G 75?N 
<?< ?> E<?L=> G6?46=5==>= <<=5D4?L=>= 6>4>= >>65, <>6=> <E?>?L7>64FL E?5F<4?L=O5 
74DO65==O5 ?>4 «+» <?< «3» ?D5?4D4FO 4?O <>=>D>D574, GF> >55E?5G<645F 4>?>?=<F5?L=O= 
MDD5>F ?D>F54GDO. 
� D56<<5 74?L64=<G5E>>7> >G<M5=<O (ION+) D5>><5=4G5FEO =4=>E<FL =4 >>6G 
<<=5D4?L=GN 6>4G <?< 6>4=>-E>4>6O= D4EF6>D (1G? E>4O =4 EF4>4= 6>4O).  
�D< =4?<G<< >G?5D>74 �O <>65F5 <E?>?L7>64FL E?5F<4?L=O= ?D>F<6>>G?5D>7=O= >><??5>E 
«�><D>DF», <<5NM<= 74DO4 «+».  
� D56<<5 <>=>D>D574 (ION-) 4?O ><>?>65=<O, G6?46=5=<O, ?<F4=<O >>6< =5>5E>4<<> 
<E?>?L7>64FL E?5F<4?L=O5 74DO65==O5 >><??5>EO Beauty Style, <<5NM<5 74DO4 «3». 

 

�>5. �4EE46=O5 46<65=<O 6O?>?=ONFEO E=<7G 665DE, >F F5=FD4 > ?5D<D5D<<, =4G<=4O >F <565D>6=>7> 
?D>EFD4=EF64, >4> ?>>474=> =4 D<EG=>5. 
�>>>6O5 ?>65DE=>EF< ?<F4. �4EE46=O5 46<65=<O 6O?>?=ONFEO E=<7G 665DE >F ?>45>D>4>4 > 6<E>4<. 
�>=4 ?>4 7?474<< (=>E>7G5=O= FD5G7>?L=<>, M5><, >5?4EFL E>G?).  
�5?4EFL L5<. �6<65=<O 6O?>?=ONFEO 6 =4?D46?5=<< E=<7G 665DE, <75574O 7>=O ?D>5>F<< M<F>6<4=>= 
65?57O. 
«�6>==>= ?>45>D>4>>». �6<65=<O ?D>6>4OFEO 6 =4?D46?5=<< >F F5=FD4 ?>45>D>4>4 > GEG.  
�5L>< / «E<=O><» ?>4 7?474<<. �6<65=<O 6O?>?=ONFEO >F F5=FD4 ?<F4 > GEG, 4G7>>5D47=> >7<54O 
?4D4>D5<F4?L=GN >5?4EFL 7?47. �5 D5>><5=4G5FEO ?D<5?<64FLEO > 7?47=><G O5?>>G. 
�>E>7G5=O5 <>DM<=O. �6<65=<O 4>?6=O 6O?>?=OFLEO ?> M5>4< =4DG6G 6 =4?D46?5=<< ?> 
4<47>=4?<, D477?46<64O <>DM<=O. 
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� D56<<5 74?L64=<G5E>>7> ?<DF<=74 (ION+\-) D5>><5=4G5FEO ?D<<5=OFL M?5>FD>?D>6>4OM<= 
75?L =4 6>4=>= >E=>65, =4?D<<5D, 75?L «'?LFD4?<DF» Beauty Style <?< 75?L 4?O ?<F4 E 
M>EFD4>F>< <>DO Beauty Style. 
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II. $���� «���$��$����» � «&�����&�/ �/,&» 
÷ �F>DO< MF4?>< ?D>F54GDO O6?O5FEO 6>745=EF6<5 EF<<G?<DGNM<<< <<>D>F>>4<< =4 

GG4EF>4E E 6OD465==O< ?F>7><, F.5. E >56<E4=<5< >>=FGD>6 ?<F4, 4 F4>65 4?O 
?D>D<?4>F<>< <7<5=5=<O >>=FGD4 ?<F4. 

÷ '4M5 6E57> >56<E4=<5 D>D<<DG5FEO 6 =<6=5= G4EF< ?<F4 (>64? ?<F4, L5O, M5><, G7>?>< 
7G5, ?>45>D>4>>). � 65DE=5= G4EF< ?<F4 ?F>7G ?>465D65=O 65>< < ?<=<O 5D>65=. 

÷ �5?4F5?L=> ?D<<5=OFL E?5F<4?L=O= 75?L =4 6>4=>= >E=>65, =4?D<<5D, 75?L 
«'?LFD4?<DF» Beauty Style.  

÷ &>>>?D>6>4OM<= 75?L =4 6>4=>= >E=>65 =4=>E<FEO =4 6E5 6O5D4==O5 7>=O < 4>546?O5FEO 
?> <5D5 =5>5E>4<<>EF< 6 F5G5=<5 ?D>F54GDO. 

÷ �5D54 =4G4?>< 6>745=EF6<O 6O55D<F5 EE5<G 6>745=EF6<O, GG<FO64O 6OD465==>EFL ?F>74 
=4 D47?<G=OE GG4EF>4E ?<F4 (=4E44>G M?5>FD>4O-L4D<>< D4E?>?474=F5 64>?L <OL5G=OE 
6>?>>>=, <54?5==> ?5D546<74=F5 <E ?> G>474==O< ?<=<O<). 

÷ -DD5>F 6OD>6=5==>7> >>=FGD4 >>6< 45D6<FEO 2-3 <5EOF4. 
÷ �>7<>6=> ?D>6545=<5 3-4 ?>?=OE >GDE>6 >>DD5>F<< 6 7>4. 
÷ �4F5< ?>445D6<64NM<5 ?D>F54GDO 1-2 D474 6 =545?N. 

��$/��� �/�������/ �$�&��'$ 



�D>6>4<FEO MF> 6>745=EF6<5 F>?L>> =4 ED>D<<D>646L<5EO <>DM<=O-5>D>74O, 
>>F>DO5 =5 746<EOF >F <<<<>< < =5 <EG574NF 4465 ?D< ?>?=>< D4EE?45?5=<< <OLF. 

III. $���� «��$$��&�/ ��$-��» 
�> >>>=G4=<< >GDE4 6>745=EF6<O 74?L64=<G5E><< ?>EF>O==O< F>>>< < F>=<74F<< <OLF ?D>6>4<FEO >GDE 
>>DD5>F<< <>DM<=-5>D>74>> (MF> F5 7?G5>><5 <>DM<=O, >>F>DO5 =5 <EG574NF ?D< ?>?=>< D4EE?45?5=<< 
<OLF).  
÷ �>745=EF6<5 M?5>FD>44<<-<7>?>G>4<< ?D>6>4<FEO ?> 15-30 E5>. =4 >464GN 7>=G, ?5D5<5M4O 

M?5>FD>4 64>?L <>DM<=O ?> 76G>>6><G E<7=4?G.  
÷ �D5464D<F5?L=> >G<EF<F5 >>6G 6 7>=4E 6>745=EF6<O. %>D>L55 G6?46=5=<5 F>?L>> G?GGL<F 

D57G?LF4F. 
÷ �D>F54GDO >>DD5>F<< <>DM<= ?D>6>4OFEO ?> >>65, G6?46=5==>= <<=5D4?L=>= 6>4>=. 
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